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Probability Review

. Match the potential probability with the event;
Ewvent: Percent;
# The sun will rise tomorrow. % 0.35

« I'm bringing my dog to school tomerrow. « 0
= You will have a quiz in one of your classas tomorrow. % 100
% 120

. Mr the following questions using the following information:

The odds in favour of someone getting suspendaed today s 307,
b

‘What are the odds against someone getling suspendsd?

at is the probability of someone getting suspendead?

is the probability of ssmeone not getting suspendad?

0ss two coins, what is the probability of getting two heads's?
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ainst someone getting suspended?

ity of someone getting suspended?

ability of someone not getting suspended?

@ins, what is the probability of getting two heads's?

an outcome table for rolling two dice.
 the probability of rolling doubles ?

A ‘ls the probability of relling a sum less than 77
two cards from a deck of well shuffled cards.
at is the probability of choosing two hearts?
at is the probability of choosing two sevens?
is the probability of choosing a 7 and a 27
the events are dependent or independent:
-g,s_sing heads and rolling a 6 on a die

hoosing two cards and getting hearts and spades
etting a heart and a 6 when choosing two cards from a standard deck of cards with
cement
g two coins and getting two heads
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oured marbles in a box, 10 red, 15 blue, & green, and 4 yellow,
e p(pbabEHt;r of choosing a red and blue marble with replacement?
mine the probability of choosing two yellow marbles without replacement.
; the probability of choosing three blue without replacement?
is the probability of choosing a two green and one blue marble with replacement?

: pse one marble. What is the probability of choosing a yellow ar green?
pléying twister with a friend, If you spin a four-coloured spiner [red, green, blue,
2) what is the probability you will spin red?
remembers to set her alarm clock 75% of the time. When she does remember the
0 bility that she will be late for scheol is 0.31. When she does nol remember the probab
o will late for school is 4/5. Pam was on time today. What is the probability that she forge
her alarm? Please use a tree diagram.

= are 147 graduates. Of these 90 people ordered a basehall T, and 30 people ordered :
ie. If 15 ordered both...
a) Draw aVenn diagram and label each cf the sets.
P(baseball T)

P(not a hoodie)
~ P| haodie and baseball T)

mnitlar hacaball T nar hnndiel
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clock 75% of the time. When she does remember the
for school is 0.31. When she does not remember the probability
4/5. Pam was on time today. What is the probability that she forgot to
use a tree diagram.

r baseball T nor hoodie)
| ssing history is 0.8 and the probability of failing biology is 0.4. If a student
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